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Instructions for the Candidates

1. Write your Roll Number in the space provided on the top of this page.
2. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.
3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below -
(i) To have access to the Question Booklet, tear off the aper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booE,le{.

(ii) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missinkf or duplicate or not in serial order or andy other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet, :
4. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on
the correct response against each item.

Example: (A> @@ (T (D> where (B) is the correct response.

5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — II only. If you mark your
response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.

. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except
for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or cm%!og any
{cj)lr_;her al,;lx;ifair means, such as change of response by scratching or using white fluid, vou will render yourself liable to

ualification.

8. ‘1’(‘.?11‘:l have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination.

9. Use only Blue/Black Ball point pen.

10. Use of any calculator or any electronic devices or log table etc., are prohibited.

11. There shall be no negative marking.

12. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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1.

POLITICAL SCIENCE
Paper - II

Which of the following regarded
political theory as “that intellectual
tradition which affirms the possibility
of transcending the sphere of
immediate practical concerns and
viewing man’s societal existence from
a critical perspective” ?

{A} Ernest Laclau (B} Dante Germino
(C) George Sebine (D) Isaiah Berlin

. Match List — 1 with List — II and select

the correct answer from the codes
given below :
List -1 List - II
(Thinker) (Principle of Liberty)
a. J. S. Mill i. Each person
is entitled
to the greatest
possible liberty
compatible
with a like
liberty for all

b. J.J. Rousseau ii. The only
Jjustification
for restricting
individual
freedom is to
prevent harm
to others
Liberty is
obedience

to a law one
prescribes to
oneself

While negative
liberty is non-
interference :
positive liberty
is self-mastery

. Isaiah Berlin iii.

(@]

d. John Rawls iv.

Codes :
a b c d
A i 11 ii v
111 1
iv 1
i v
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d. %8lel e iv.

slsy

a b c d
A) 1 1i1 11 v
B) iv 11 tii 1
(C) i iii iv i
(D) i 1l 1 v



3. Which of the following statements

is not correct about the concept of

rights ?

(A) The philosophical foundation of
human rights is located in the
natural rights tradition

(B) Legal rights are rights which are
enshrined in law and therefore
enforceable in courts

(C) The modem concept of citizenship
is founded upon the relationship
between rights and obligations

(D) Moral rights are binding in nature
and enforceable in courts

. Match List — I with List - II and
choose the correct answer from the
codes given below :

List -1 List - II
(Thinker) (Conception
of Power)
a. Steven Lukes  i. Thought
control
b. Robert Dahl ii. Agenda
setting

c. P. Bachrach iii. Decision
and M. S. Baratz making

d. Michel iv. Capillary
Foucault notion
Codes :

a b ¢ d
(A) 11 i iii v
B) 1 i1 1ii iv
) 1 iii ii v

D) iv i i i

3. wuls- Renasi @ A U4 59

Qo 1Y a2l ?

(A) Mot w@sizel eldlAs wel
secll us0]l udunl Wil 8

(B) stoell w@sA Ay w@AsA D ¥
glaeii w8 wal dsl
veledml sl &

(C) otoRsclall wylRs vaue ulsR
A 5l ol ol 1 Yeuld 8

(D) ollds w@siAe] WU cltlalics
B dat WelcaHl vmclla B

. AT ua adl-Toll qetott 530 wal

13 el SisHigll #A walw UHE 53

algl -1 atgl — 11
(Acts) (Arltell vaUAGERLAL
a. Wldel s i Quz 2iga
b. Awé seld i, Regest AR

c. ogas wal  iii. @i Hfauie

DH AU HRAEH
d. Raw g8l iv. 2scsiellsiell
VAL
slsu :

a b c d

) i i iii iv
B} 1 il 1ii iv
yood iii i iv

D) iv i @i i



5. Which of the following are conceptual | 5, «18 QA4  wepuy@s Axdla

features of post-modern political (QuRet [Qeudsitans ciael si & ?
thought ? Choose the correct answer ol 2l SlsHial WA ol U -

from the codes given below :

a. ‘Nelardla’ yd wlduuslac

a. Incredulity towards

metanarratives. b. uylAsdietl B cdbo] Goycot
b. Subversion of the binary logic of c. Asel wcalell Wzl uA
modernity. ARYGclt

. Th lidit d authenticity of
C ¢ validity and autnenticity o d. dtlel 2w wWd A A

singular truth. AR GuzoL
d. The exercise of power as evident
and observable. slsa :
Codes : (A) a wa b
(A) aand b
(B) a, b and c (B) &, bud c
(C) a,cand d (€) a,cua d
(D) a,b,cand d (D} a,b,cux d
6. Which of the following matches 6. -l Usl s Rsicsies uR ttue
between political theorist and her/his U2 [ARell veuet cledal vIdl & ?

conception of justice is incorrect ?

(A) Al weu dvausll Wl ay
(A) Greatest happiness of the least uistdl -2l dAan

number — Jeremy Bentham
(B) ot wal [@wicoll dmllotctl ~

(B) Equality of resources and equal
Aoiles sAASet

concern — Ronald Dworkin

{C) Greatest benefit of the least (C) HWell % et dlell ay
advantaged ~ John Rawls el ~ 8l Ay

(D) Bivalent collectivities and

(D) oudetoe sAsElZls wal wldd
fractured justice — Nancy Fraser sll2t — aloll




7.

Match List — I with List - Il and select
the correct answer from the codes
given below :

List -1 List — II
{Author) (Book)
a. Kate Millet i. Undoing
Gender
b. Judith Butler 1ii. States of
Injury
c. Wendy Brown iii. Sexual
Politics
d. Catherine iv. Towards a
Mackinnon Feminist
Theory of
the State
Codes :

a b c d
Ay i i v i
B i i i v
() i i iv i
(D) iv @il i i

. Who is the author of the book Political

Order and Political Decay ?
(A) David Held

(B} Ernest Gellner
(C) Benedict Anderson
(D} Francis Fukuyama

. Which of the following book is

written by Vandana Shiva ?

{A) Everyone Loves a Good Drought
(B) Where Are the Missing Girls ?
(C) Who Really Feeds the World ?

(D) Women, Development and
Nature

7. €l vial augl-Mofl detett 530 wel

ol e stsHiell AR walel UdE 53 -

gl -1 anél - 11
(Aus) (Ycis)
a. ¥ @Ade i Watgdool
%52
b. %l3a dear i, wau
8ol
C. Aol wlBat iii. Vs
MEEEN
d. 3udla Asflotel v, Jady A
3Ro{lee oladl
wls o we
élsa:

a b c d
(A) i iii iv ii
B) i i i iv
(C) i il iv i
D) iv il i i

. A@AdlsA A8 Aes WA s B

Yecisoll Aus 5L B 7
(A) 3QAs &es

(B) uslie detalR

(C) AASIs2 BlesUst
(D) storlly s5auHt
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clug) 8 7
(A) Aaladt ce A S §l2
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10.

11.

Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
the correct answer from the codes
given below :

Assertion (A) : The political theory
of multiculturalism advocates the
guarantee of political rights to
cultural minorities for the protection
and preservance of their cultural
differences.

Reason {R) : The theory of

multiculturalism criticizes the

dominant conception of the nation-

state for being inherently biased in

favour of the culture of the

majority.

Codes :

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A)

(B) Both (A) and (R} are true, but {R) is
not the correct explanation of (A}

(C) (A) is true, but (R) is false

(D) (A) is false, but (R} is true

Which of the following is not a virtue
of the soul, according to Plato’s
classification of souls ?

{A) Wisdom
(B) Care
(C) Courage

(D) Temperance

10. {3 vl sacHidl As Quet (A)

11.

8 wal ofley s120e (R) 8. o1 2ulen slsuigll
AL el ude 52 ¢

Qe (4) : o uigl@Ascueal 2Awdla
Rald, dizslds ayudlulia Anddl dizs@s
@acion 8 wal maagll e wxsla
&5l wtddl 2uuauell Buiad 52 d.

50 (R) : olg uislAscuesll @eadid
v Al yudld @Qeuastsdl st s2e
U B 3 A Haeet A ugnddl dglsll
Rl ydoudla B,

slsu :

(A) (A) wal (R) cial AL B, ual (R) 3 (A)
ol a2l wuxla 8.

(B) (A) ual (R) ol el B U (R) 4 (A)
ol wAll (A otell.

(C) {A) Ay B Ug (R} Wig B

(D) (A) vl B udqg (R) Ay .

WAalell viteHiAletl adlls2g Yoo
o1 Usl s @scU wicHlell HEIQL o2l ?

{A) selul
(B) stae
(C) @ua

(D) uMt2AHUA



12.

13.

14.

Which of the following is true of the
political thought of Thomas Hobbes ?
Select the correct answer from the
codes given below :

a. Hobbes was influenced by
new developments in physical
sciences, and especially by
Galileo.

b. Fear and self-interest are
the two fundamental human
motivations.

c. The principal cause of conflictis
external to the nature of man.

d. The right to self-preservation is an
absolute right of the individual.

Codes :

(A) a,band ¢

(B) a, band d

(C) a,candd

(D) b,cand d

Who made the following
characterization : “ A male is male
in virtue of a particular ability and
a female in virtue of a particular
inability.”

{A) Plato

(B) Aristotle

(C) Immanuel Kant

(D) Jean Jacques Rousseau

According to G. W. F. Hegel, the state
is a representation of

(A) Universal Conflict
(B) Universal Egoism
(C} Particular Altruism
(D) Universal Altruism

12,

13.

14.

gl Sleall Rwsla Qe e
12 U4l 53] Quiet Wy & ? oA wen
@scurigll we s :

a. ollds @Qstielnl wde v sdta
AAclallet  oal  @siuell  slox
yeuldd 21 sdil.

b. 52 uad W A A yaed
Hietcla greu B,

C. dsAe] Hual Hlelct

aeiadll ousl B,

5120

d. w-wncllal w2 A calasd
wollBld 2SR 8.

sls

(A} a, b ud c

(B) a, b wa d

C) a,cua d

(D) b, c wa d

(lAe] uRAw 58 59 ? 5 A ysiRedl

MUl oll UEJRIA ASal Y™ 3L Y B uel
=l 58 WA vRHALAL oll djelsl A ¥l &

(A) Wl

(B) Adlled

(C) SARUAA Slo2
(D) Bl BEA FA
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(A) wdBs [@Quwate
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(C) wMYsIRe uAusidiug]
(D) wdBs uAusidlug



15.

16.

Which of the following is not a feature
of Rousseau’s political thought ?

(A) Inequalities among men do not
hinder independence and self-
sufficiency

(B) The claims of authority ought to
be reconciled with the claims of
liberty

(C) Reason is an innate quality in the
individual

(D) Theinstitutionalization of property
rights marks the beginning of
civil society

Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R).

Select the correct answer from the
codes given below :

Assertion (A) : Rawls’s original
position is an initial agreement
wherein the participants are placed
behind a Veil of Ignorance to render
them ‘incapable’ of determining
principles of justice favourable only
to their personal circumstances.

Reason (R) : The main concern

of Rawls’s theory of justice is to

correct the unjust differences among

unequal starting places in a liberal

capitalist society.

Codes :

(A} Both {A) and (R) are true, and (R)
is the correct explanation of (A)

(B} Both {A) and (R} are true and (R)
is not the correct explanation
of (A}

(C) (A) is true, but (R) is false

(D) {A) is false, but (R) is true

15.

16.

Al U4l 59 clag 3elon AwIlA
Qe «12fl 7

(A) Mot Récll  wHeAAA
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Plrold GelRael-ySlaél amsnl
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(D)

(A) (A (R) sl AU B wal (R) A (A)
ol w2l ¥nydl B

(B) (A)viel (R) ol AL B UL (R) A (A
ofl 2ll anydl «ell
(C) AAY & u RUE B

(D) (A)ulg & uad (RUY B



17.

18.

19.

Match List — [ with List — Il and select
the correct answer from the codes
given below :

List - I List - II
(Author) (Book)
a. Antonio i. Political
Gramsci Liberalism
b. Hannah Arendt ii. The Human
Condition
¢. Frantz Fanon iii. Prison
Notebook
d. John Rawls iv. Black Skin

White Masks

Codes :

a b c d
(A) i v il ii
B) iv i ii iii
(C) i i v i
(D} il iv i i
“Only the mob and the elite can
be attracted by the momentum of
totalitarianism itself. The masses
have to be won by propaganda.” Who
said this ?
(A) G. W. F. Hegel
(B) Antonio Gramsci
(C) Mao Zedong
(D) Hannah Arendt

In which work did Karl Marx

denounce the bureaucratic and

all-powerful state advising the

proletariat to destroy it ?

(A) The Player

(B) German Ideclogy

(C) Eighteenth Brumaire of Louis
Bonaparte

(D) Qrigin of Family, Private
Property and the State

17.

18.

19,

A€l -1 e ad] -1 o A8l wal {2
WA @QscdHigl AR Fae UHE 53,

gl -1 aél - 11
(Aus) (4cls)
a. Blealal ol i, Qdlélsa
RQauacllonx
b. sloll WS i [@ gHet 5051t
c. %lodh olot i, losu otlees
d. & Ay iv. o@s ¥lol,
Slsu : BT HRSH

a b c d
A i v i i
@) iv i i il
€y i i v i
(D) @i v i i
“B562y Arttaleatl 2ol 1A A
U woflH AENA B, U WeLAdla
yael o 9l Aot 8™, 8lof sU & ?
(A) %. SHUEY Wg.dolel
(B) Aol aurll
(C) HRA RS
(D) &lotl w(ReS2
sid A Vot oA Udlow s
yadsul sills colel uete wudl
Holell ual wHAeRld A%UA [Auy

5cll ollel 5l 58 ?
(A) @R
(B) ot WSSl

(C) A YR 2ls ¢F cllott
(D) wMyet vy Hdldl, wde

Qudl Aos b W2




20. “The only part of the conduct of any
one, for which is amenable to society,
is that which concerns others ... over
himself, the individual is sovereign.”
Who said this ?

{A) John Stuart Mill
(B) Isaiah Berlin

(C) John Rawls

(D) Charles Taylor

21. Which of the following is not an

element of Kautilya’s Saptanga
theory of the state ?

{A) Amatya
(B) Kosha
{C) Shatru
(D) Mitra

Match List —I with List — II and select
the correct answer from the codes
given below :

22,

List -1 List ~ II
(Book) {Author)

a. The Impossible i. Sudhir
Indian Chandra

b. Gandhi’s 11. Faisal Deviji
Integrity

c. The Disobedient iii. Akeel
Indian Bilgrami

d. An Impossible iv. Ranin
Possibility Jahanbegloo

Codes :

a b c d

Ay i iv i iii

B) iv il i il

<) i ii iv i1l

(D) ii iii iv i

20. ‘el yl dcdot ol §5 A WOl B
AUHLYetl HRALR0QA Uef3Y Sl A A B ¥
URld Ao W B A el GuR
ol B ul syt o B ?

(A) %¥8lel U Mt

(B) v oot

(C) ¥8lat Acy

(D) u& 2R

ol U4l s2ll [scu SlRcat AUl

Aot Rlglctoll auot ool ?

(A) UMl

(B) slat

(c) W

(D) A

22, A€l -T v €l 11 ofl qetott 5 w4
o{lA e Slsuiell w2 wae ue 530

21.

agl -1 gl —- 11
(Yocis) (Auis)

a. g grndallua Lyl s
Sodlelat

b. oty Sedlofldl il e taw

c. u Sulddlaee il wld Rl
tSodl2lel

d. et rdldleed v, 2ellet Reletdolg
WRllelelldl

Slsd

a b [ d

Ay i v i i

B) 1w 111 1 i1

(C) i ii iv 1i1

D) i i iv i



23.

24,

25.

“ The problem of raising the lower
order in India ... is to remove from
them that inferiority complex which
has stunted their growth ... nothing
can achieve this purpose except the
spread of higher education.” Who
said this ?

(A) Ishwar Chandra Vidyasagar

(B) B. R. Ambedkar

(C) Aurobindo Ghosh

(D) Vivekananda

Which of the following thinkers is

conceptualised by Partha Chatterjee
in his work Nationalist Thought and
the Colonial World : A Derivative

moment of

Discourse ? as “the

arrival” ?

(A) Bankim Chandra
(B) M. K. Gandhi

(C) Jawaharlal Nehru
(D) B. R. Ambedkar

Which of the following matches is
correct in terms of author and book ?
{A) V. D. Savarkar — Raja Yoga

(B) E. V. Ramasamy — The Origins
of Caste

(C) Aurobindo Ghosh — Bunch of
Thoughts
(D) M. N. Roy - India in Transition

23.

24.

25.

sgetell  olluel Bl sMel
Gesllotell el WA Aneunisl
cycioiell Fauell Axell gfs Fsla ug B
A g2 secll. G2 Bl Raat v Giat olly
A6 A Rg ot U A7 L 52Ut Blof B ?

(A) rs [Qauuor

(B) ofl.uR.udssR
(C) ulde Al

(D) [Qasteie

s A22%petl Yacts : Azeidlze de

Ros 4 AARAA acd : W 31Adla Busid
Rl ‘BotHotell U iy Qretas A oA
A4 sl Qursal [Qacsll Ysc 52 B 7

(a) ¢BHs
(B) A, . oLl
(C) FAUGRAA &3

(D) ofl. w2 mivLs 82

A2 Udlodl sl [Ascu Aus Aal
Yacts WA A WA B ?
(a) L4 uaRs? - Ayl

B) &.cll.euand - Wl
Ay s

(C) vRle A - it g Agy
(D) 3. Ret, A2 — 8B St
2lodflatet




26. Match List - with List - Il and select 26. 2¢l-1 w3 aidl-1 off detell 53] wWal
th . .
the correct answer from the codes ol wden AsHigl WA walo, urie 53 ;
given below :
List - I List - II “q‘a -1 el - I
WS x5
(Author) (Book) ( ) (43t8)
a. Partha i. A New a. Yo A2z i A o eldlsn
Chatterjee Politics of Ay IS
Identity .
b. Ydiueite] H3cl ii. wods &
b. Pratap Bhanu ii. The Black u g AIULAR
Mehta Hole of '
Embire c. Wl gl i det
: UL§ 2leew
c. Ashis Nandy  iii. The Burden -
of Tolerance d. elly udw iv. Wez2adla
d. Bhikhu Parekh iv. Alternative Waadl
Sciences
sls:
Codes :
a b c d
a b c d _ ‘
&) i @i iv i (A) i i v
C i iv i i € i ivooid il
D) v ii iii i (D) iv ii iii i
27. “Itis freedom alone that is desirable .... | 27. A dld2l % B 5 % sasella B......
It is not law that we want but ability UHA sAEL el ATA ug staAEl]
to break law. We want to be outlaws. Geclust sRclle] wHwl APA B, ad R
If you are bound by laws, you will be staelell oltkal el Al R Hdlotl Alel Rat
a lump of clay.” Who said this ? o4 wall * A Quiet 819 59 7
(A) M. K. Gandhi (A) 2beE, ol
(B} Vivekananda (B) @asisie
(C) Aurobindo Ghosh (C) wRAAE dn
(D} Deendayal Upadhyaya (D) &leteaum Guitayey




28.

29.

Who is the author of the book titled
The High-Caste Hindu Woman ?
(A) Tarabai Shinde

(B) Sarojini Naidu
(C) Pandita Ramabai
(D) Sarladevi Chaudharani

Which of the following are correct
about B. R. Ambedkar’s book titled
The Untouchables published in 1948 ?
Select the correct answer from the
codes given below.

a. In the book, Ambedkar identifies
a racial and occupational basis
for the origin of untouchability.
In the book, Ambedkar concludes
that untouchables were pushed
aside in the struggle for supremacy
between Buddhism and
Brahmanism.

c. Inthe book, Ambedkar specifically
denies a racial, ethnic or
occupational basis for the origin
of untouchability.

The book is dedicated to three
saints, namely, Nandnar, Ravidas
and Chokamela.

Codes :

(A) a,band d

{B) aandd

(C) aand b

28.

29.

o o8 512 (g dHol Yeisell Aus
sl g ?

(A) s @

(B) udegoll atiatg
(C) Ul meues
(D) acut<l ARl

(A Afe] ¥ 1948 Wi usi@a

ofl 202, WiAS 52l Yels ‘tf} wei2Aue’
HE WY B ?

ol audet [@scdlaisll W ool UdE
52 .

a. wyRidl Baa M2 wul Vsl
wiRss2 dofla wA clamlls st
Waud 8.

il YaelsHl SR Aall dlRY WR
HAY Y sRcle R ollg w et
UdlURcliotl Al wyela oy UR
&SAC BatHi el bk,

c. ul Yeetsui uwidss2 AR A
clilol A2 WD B ¥ vy otl Ggicloll
della mclla ¥ caui@s wuR 8.

. uL Y5 oiEotR, el vl Alstiel
3 2Rl AAlR A sRcuMl v B,

RIS

(A) a, b ¥t d
(B) a w4 d
(C) a ¥4 b

(D) b,candd (D) b, c ual d



30.

31.

Which of the following is not correct

about Gandhi’s book titled Hind

Swaraj ?

(A) Gandhi wrote this book while
travelling from London to South

Africa

{B) The book is written in the form
of a dialogue between reader and

editor

(C) Gandhi wrote the book in English
first and then translated it into

Gujarati

(D) The Book was banned in 1910,
by the British Government as a

seditious text

Identify the correct chronological order
in which the following approaches
emerged in comparative politics and
select the correct answer from the

codes given below :

i. New Institutional Approach
i1. Marxist Approach
iii. Philosophical Approach

iv. Behavioural Approach

Codes :

(A} ii, 1, iv, iii
(B) iii, iv, ii, i
(C) 1, iii, iv, ii

(D) iii, ii, iv, i

30. el yacts Be e w2 ol

31.

Ugle] 9 A otell ?

(A) clsotell e(@a vulEsioll Yeltdeall
AHA alelA vl Yy ¢tu

cllUs ol HAUlES cAell dalltoll

(Bj
3U B Yls GratHl wicy 8

aliell B W Yacts Y Ui
) Wal R GllE Ao il
elnicR 59

(D) 2 yYactsal [@lal w22

sl cvel awll 1910 Hi
yQeild 59

delolleds A%sQHL Geadal oA
Udlott @O A Wl sHisHi slsdla
oAl e Slsuigll wA oscuo ¢l

i, olciel AreUol wlEon

i1, dsyane) @oim

—

il e1glells uf@ton
iv. adetetall a4@os
DRETE

(A) i1, 1, iv, iii

{B) iii, iv, 1i, i

{C) 1, iii, iv, ii

(D) iii, ii, iv, i



32. Which of the following is the condition | 32. waill el Aswdlot Qsia W2

listed by Barrington Moore for the Adlotzst 1 1A A 56 w3dlaucal YA
development of Western style of

democracy ? 548 2
(A) Development of a balance )
to avoid too strong a crown (A) Uld MGt AUY UAAU
or too independent a landed Ul A gHleterdl Wl yeiust
aristocracy Gowzal Raral uHdetsll s
B) Devel t of feudalis d .
B) lan(ﬁoiﬂ?slil ore man (B) auidate i wHlstetdlal Qs
(C) Dglegation of revenue rights to (C) scllotatdlAR cuy desell
aristocrats by the crown udyet wullsidedl el
(D) Coming together of workers
and peasants for revolutionary (D) silAstd s W2 HAEA U
action Wgclloj Aou g
33. Match List - I with List— Il and select | 33. €l-1 ua el -1l all qetatl 53 sl
the correct answer from the codes o130 et SlsMiall D weliol WAE 53 :
given below : agl — 1 €l - 11
List — 1 List - 11 ( (azui/ [s.ltqi_d) ([Elgl"'l)
(Ideas/Concepts) (Scholars) )
. a. AwstA i %A% el
a. Stages of i. Joseph Rislatel waheiat
political La Palombara A olsst
development b a C Red
.. .. . sl 1. BLug.5.
b. Cr1_31.s of ii. A. F. K. . Rt a2 3eudl
golltical Organski 52
evelopment
c. Classification iii. Lucian Pye © 3:;&3{ fii. alleiet we
of pc?htlcal ol
parties
d. Classification iv. Gabriel d. AWl iv. AJact
of political Almond and daglde S B
culture Sidney Verba SBUEEL lsoll aul
Codes : sls
a b c d a b < d
(A) i i il v (A} 1@ m iv
(B) i i i iv B) i i i W
() i i iv il (€ i 1 iv i

(D) iv il i il D) v il i ii




34.

3S.

36.

37.

Which one of the following pairs is
not correctly matched ?

(A) C. W. Mills : The Power Elite

(B} T. B. Bottomore : Elites and
Society

{C) V. Pareto : The Ruling Class

(D) Ortega Y. Gasset : The Revolt of
the Masses

According to Lucian Pye the key

elements of political development are

{A) Equality, capacity,
differentiation

(B) Urbanisation, industrialisation,
participation

(C) Political unification,
industrialisation and national
welfare

(D} Integration, participation and
distribution

Who among the following has
classified dependency into ‘Colonial
dependency’, ‘Financial dependency’
and ‘Technological industrial
dependency’ ?

(A) Andre Gunder Frank

{B) Theotonio dos Santos
(C) Immanuel Wallerstein
(D) Samir Amin

Who among the following writers
classified elites into two broad

types ?
1. Organising and directing elites.

il. Informally organised and diffused
elites.

(A) Vilfred Pareto

(B) Robert Michels
{C) Gactano Mosca
(D) Karl Mannheim

34.

35.

36.

37.

lA Qo] 53f Alss WAl A Anauy
el ?

(A) Alsoley M u waz Acfle
(B) &loll.clanlz: Adex Aes
Mgl
(C) <l w3 :u pellor seu
(D} 022ou ctet- A : o fcllee Ay
o el

GRRI WUl HllogiR A¥H
@siuott utellaw el B,

(A) Arletell, sucl, Qdelsw
(B) s3dls2e, q1elols2e, Baetdl

(C) sl Asls2w, w0520
o Al sca

(D) Astatsw, BRI wa adugll

ol dgl S8 wRnacioletal ‘drelells
wRLadsel, ‘slleudal uiddoet’ ua " Yalbls-
LGS wraciotet i aollsd 59 & 2

(A) uon JJosR %5

(B) [@D2lofla Ela utedld

(C) SRyt Aatrreteot

(D) MR let

Al qgt sl Quid whhia A Hse
ysiRHt aaflsd s & ?

1. yledlot U Aotsstsdl M)Al
. [AugAd v wWelluauRs wEA.
(A) [@Qeks wadl
(B) Aod R
(C) Szetl Hles
(D) sid Hstefu



38.

39.

Riots and demonstrations are the

examples of

(A) Institutional Interest Groups
(B) Associational Interest Groups
(C) Anomic Interest Groups

(D) Non-associational Interest

Groups

Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
the correct answer from the codes

given below :

Assertion (A) : According to Alberto
Melucci, new social movements’
concern has shifted from the sole
production of economic resources
to cultural production of social

relations, symbols and identities.

Reason (R) : These movements arise
from the sphere of reproduction and

life world.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
is not the correct explanation
of {A)

(C) (A} is true, but (R) is false

(D) (A) is false, but (R) is true

38.

39.

21090 2o 2ol o{lA U4 auetl
GeleQL B ?

(A) deuslal R &
(B) ssella B gl

(C) (Aot Bt o

(D} [et-3isoflar B %2

ofl A wel sastuiell ds [Quiat (A)
B wa ol 5120 (R) B. oA sulew
Slsanigll aA s wAe 53 :

Rzuet (A) : 20codl Dejellet HetllojulR steal
A®s  uncllell [Heotd 5t wulds
Attallott Geuteotell wallal @y oitdl |
Y5l el 2Qolleit Airslds Gauea 2y
sraedl .

g0 (R): ¥l AN pa Ay ua
yaleuleol Aoidiel Gga B,

slsH

(A) () wa (Roia Wl 8 wal (R) 2 (A)
ofl utll uuydl B

(B) (A) wa (R) ol ®U B W (RA
(Ayofl ut2ll wmeycdl otall

(C) (A) W3y 8,uq (R)wlg B

(D) (A)udg B, uzd Ry B

]



40. Match List—1 with List - II and select

the correct answer from the codes

given below :
List - I

post system

b. Two ballot
system

c. List system

d. Single
transferable
vote

Codes :

a b

A) i v

(B) i i

(C) il ii

(D) iv i

(Electoral System)
a. First past the i.

.

i1,

iv.

c
1il
iv
iv
iii

List - II
(Procedure)

Voters rank
candidates
in order of
preference

If no candidate
wins a majority
on thefirst ballot
the leading
candidates,
usually the

top two, face a
second runoff
election

Leading
candidate
elected on first
and only baliot

Votes are cast
for a party’s
list of
candidates
though

in many
countries the
elector can
also express
support for
individual
candidates on
the list

d
ii
i
i
1

40. €l -1 wa atél - Mol qaatl 5 wA

oAlA e SlsHigll Al walel ude 53

alel -1
(Yeell yau)

a. Wddl udlaall

sl well
Yol

b. B Hdus yat

c. cllze yau
d. Ase

ddglellura
Q.S%{:

a b
A) i v
(B) i i
() i i
(D) v ii

ii.

iii.

iv.

c
it
iv
iv
1i1

Al - 11
(stdfa@)

i, HdERl

GRedRAA
uded(l yeroL
suilsd 52 ©

Y& Htlel
dolsy o

GReciza
e wgudle
HAL Al oflomt
clolssl Hi
yau ol
@GReaul
Huald

A 52 B

W20
AULHA
GuEal?
USCL ol
s o ol
Al
Helaell
Jela 8

Ugtetl GHe a2l

oll YR Yol Hed
siulel 8,k ull
LML HAELAL
YR e
callsdiond GReal?
HIZ U@ 23
uldtcatsel 53l 93 B

d
i
i
i
i



41. Which of the following statements is | 41. {2 U8 53 (Aot Wy B ?
true ?

(A) The number of non-permanent (A) Y Bt ofl Hetcll @R @lot-
members of the UN Security stenll dealloll e 1995 1 © ol
F)ouncﬂ increased from six to ten atAa o 59l
in 1995

(B) France has used the maximum (B) 5l 'Y Aot ofl AcuHA uBURM
number of vetos in the UN Al au ark Al amal 8.
Security Council

(C) The Presidency of the UN (€) Y At ol ucndl uG(Ae
Security Council is held by each UHWUE Blotl €35 AeAR A5 Uetl
of its members for one month in 2 aisdl 1o 8.
rotation

(D) People’s Republic of China D) 3 At ol eund s
replaced the Republic of China sl uea dly 19491l Rubas
as the permanent member of the g wSatr A oed Yluer
UN Security Council in 1949 RBuds wlg W' [AuLz,

42. Which one of the following are 42. {2 Q- 52l [Ascu (Ao Seur
essential pre-conditions for the Yol yRacueall gdl 12 o3l yd-ardl
growth of regionalism in any region gelld & 7
of the world ?

(A) Geographical continuity of the (A) Ao} elolAs UlceL, Aol
States, convergence of interests Bloll MMl
of the States

(B) Economic interdependence (B) 2wl a2 w@s  uRuR
among the States, similarity wacioel, AR ASlA
of political institutions in the Wrale wuuug
States

(C) Geographical continuity of the (C) 2oselle] GRS utcte, AL
States, similarity of political alordlal draudle] ARuIUY
institutions in the States

(D) Economic interdependence D) 2w o s W
among the States, convergence wadolel, A2eNatl BAoAl UHoc2L
of interests of the States




43.

44,

Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
the correct answer from the codes
given below :

Assertion (A) : ASEAN has evolved
into a free market area featuring
economic integration.

Reason (R) : Post cold war, ASEAN
membership has expanded to ten
members.

Select the correct answer.
Codes :

(A) Both (A) and (R} are true and {R)
is the correct explanation of (A)

(B} Both (A) and (R) are true, but (R)
is not the correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Which of the following correctly
describes the nature of the power of
a nation ?

(A) Power of a nation is always
expressed only by tangible
elements

(B) Military capability of a nation is
the only indicator of the power of
that nation

(C) Power of a nation is more relevant
when expressed in relational
terms

(D) Leadership of a nation is the only
indicator of the power of that
nation

43.

44.

A wen saAHiall As Qulel (A) wa
ol sl (R) B, oA wudeu Asumisl
AU yellod UAME 53,

Qutet (A): 2Els  AsicHscid] el
uad Al A woflast ysd caruRet
At il Gewme B,

sie (R} 0 lld Yo usdl woflast o
oA ve eol el Yol [Qaed B,

slsu:
(A) (A)ual (R)olol AUl 8, ua (R)
A A)ell Al gy &

(B) A)ua (R)old wa B, uiq (R)
A (A) ofl Al amzydl otell

{C) (A) a3y B ud (R)wlg B

(D) (A) Wlg B WRqR)uy B

ol Adl sall [Ascu Aol sEen
ARUA ylle Ad afa & 2

(A) Wgell aBd st otssz el
HiAell wl@eaisct e B

(B) 2ol ctesdl aet A sl
A5} g5t As o Resls B

(€) Agell bl o  Aeidou
deoli w@eusd wa B
QAN Yepet oA B

(D) o] AAdect A o A Agedl
Alse] s WA [Aeels B

T




45. Match the List — I with List — II and
select the correct answer from the
codes given below :

45, AL 1w Al T all detelt 530 ol
o3, wudctt Slsmiel A sweiol wAE 52U

46.

P

List - I List - II anél -1 aldl — 11
. International i. Gives loans for a. w2 i ycgell EARet
Monetary currency LTI HZ Alet 20
Fund stabilization &
. World Bank ii. _Gives loans for b. Rudls i, Wiz HIOMLsLL
infrastructure EEDRIE
development Aot R D
. General iii. Formed to
Agreement negotiate C. %o {ii. HIGRULHLotoll cAILRelL
on Tariffs liberalisation wf N2 Getdlszel 12 alclein
(GATT) goods los 25
. World Trade iv. Evolved )
Organisation after the d.@a cwiz  iv. G3aA atclciustt
Uruguay wlget £l2 wesl ey,
Round of
negotiations slsU :
Codes : a b c d
a b c d .. ; .
@A) i av i il (A) o1
@) i i i v ® i @ i W
(C) iv i i i (C) iv il i i

(D) i i v il

Arrange the following in the correct
chronological order and choose the
correct answer from the codes given

below :

46.

o) i1 @i vl

ol Aeil @sclA WU SHIsHL o6l
wal oD Al Slsuiell A welol Wl

a. sl lelslet

a. Kyoto Protocol b. A AR

b. Paris Treaty

c. Earth Summit c. wud wile

d. Montreal Protocol d. Adlac Yasia
Codes : slsu:

(A) a, b, c, d (A) a, b, c, d

(B) d,c, b, B) d, ¢, b,a

(C) a, ¢, b, d (C) a, ¢, b, d

(D) c,a,d, b (D) c,a,d, b




47. Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Choose
the correct answer from the codes
given below :

Assertion (A) : Each member state
has one vote in the UN General
Assembly.

Reason (R) : Organization of the UN

is based on the principle of sovereign

equality of all nation states.

Codes :

(A} Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation
of (A)

(C} (A) is true, but (R) is false

(D) (A) is false, but (R) is true

48. Who among the following scholars in
her book ‘Women and War’ discusses
the two myths, ‘Man the Warrior’ and
‘Women as Beautiful Soul’ ?

(A} Cynthia Enloe

(B) Jean Bethke Elshtain
(C) J. Ann Tickner

(D) Christine Sylvester

49. Which approach in International
Relation tries to link the fundamental
institutional structures with state
identity and interests ?

{(A) Liberalism
{B) Neo-Realism

(C) Constructivism

47. <A uden suAniedl As Quiet (4)
B U [y s (R) & 02 wula
slsmisfl Al vaiol waie 52

(Qtutol (A): ‘YAt ofl wotet ARseicll ui
EXS A6 22 W5 H YA B,

5120 (R) 1 2Ysct Aol el M A
ARAWA At WdelH ol Relcd u?
HRa B,

slsu

fA) (A)ua (R)olol L B, wa (R)
A A) ol wAl yuxA o,

(B} {A) wal (R) oll A B, Ul (R)
A (A) ol wdl uHxlQ e

(C) Ay B g (R)WE B
(D) (A) Wi B,uiq (R) iy B

48. 1A Wil sl Qe Aot Ywcis
‘it Aos Al Hiyaelz yaw WA Wl
Wed Yer e’ 2 A HluslA uad B2

(A) Rlallan Ao
(B) =« Qa3 seadat
(C) %.Rot. &lsoi
(D) (33¢let (edzez
49, Ul oitloll sl wlow

oluE]l AU AUARD A Ao
AU W Bl 8 13 B,

(A) Gelraue

(B) el —cllaciciale

(C) sogsdlldonn

(D) Neo-Marxist (D) ot —tbyaue




50.

51.

Match List — I with List - Il and select
the answer from the codes given
below.

List — I List - II
(Books) (Authors)
a. Peace and War i. Sammuel P.
Huntington
b. Twenty Years il. Kenneth
Crisis Waltz
c. The Soldier andiii. E. H. Carr
the State : The
Theory and
Politics of Civil
Military Relation
d. Man, The State iv. Raymond
and War Aron
Codes :
a b c d
{A) i iii ii iv
(B) iv iil i i
(C) i il v i
by i i iii iv

Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R]. Select
the correct answer from the codes
given below.

Assertion (A) : [ran was replaced by
Venezuela as the largest supplier of
oil to India in 2019.

Reason (R) : US sanctions on Iran

have adversely affected Iran’s oil

supply to India.

Codes :

(A) Both (A) and (R} are true and (R)
is the correct explanation of (A)

{B) Both (A) and (R} are true, but (R)
is not the correct explanation
of (A)

{C) (A) is true, but (R) is false

50.

51.

€] T wA €L 1 A A8 ua (A
A el Slomiell ARl waunl ude s:A.

atgl -1 awgl - 11
(YaclBl) (Awisl)
a. iy Wes dlR i, Ayud
L 8dlotest
b. eddl Sad i. ¥
sisfla ale»
c. [0 Aew: oS ifi. FaAAER
@ =z @
oflatdl os
Weléls
As Rka
MEEEN
ST
d. Ret, @ Re iv. WS
o5 AR 2 el
slsu
a b c d
@A) i it i v
B) v i 1 il
(€ i i iv i
(D) i i i v

AR wilel susduiel As Qe (A)

B ual ofly 5120 (R) & «1A aullcw
Ssuisll A welw ue 5.

Rutet (A) :AARAAUN actal 203 ¢HL datsll
alell A Yyradl YA wsetr ta ddd
Satete] 2eat clly.

520 (R) : SaAst w2 Gee wiR4
YRR Brueefl wddl elReell detsil
yrastd Rudld Ad iz sd 8.

slsY

(A) (A)aual (R) oisl WA B, Al (R)
2 (A) ol ull wndl &

(B) (A) wal (Rjcial Wdl 8, R (R)
A (A)oll w2l eyl otell

(©) (A) g D,uA (R)WE B

(D) (A) is false, but (R) is true (D) (ANE B, uA (R w3y B



52.

S3.

54.

Which one of the following water-
sharing disputes of India is not
settled yet ?

(A} Kosi river water with Nepal

{B) Indus river water with Pakistan

(C) Teesta river water with
Bangladesh

(D) Gandak river water with
Bhutan

Match the List — [ with List — I and
select the correct answer from the
codes given below :

List -1 List - II
(Doctrine) (Main Principle)
a. Indias nuclear i. Non
doctrine reciprocity
b. Gujral ii. Strategic
doctrine autonomy
c. Non- iti. Minimum
alignment 2.0 credible
deterrence

Codes :

a b c
A i i
B) ii
(C)
(D)

iii
iii i
1ii i ii
i il I
Which one of the following options

is an element of India’s nuclear
doctrine ?

{A) Massive deterrence

{(B) Credible first strike capability
(C) Assured destruction

(D} No first use

52.

53.

54.

ol Ul aRcdell sl % adugl

Qeue 6 yell Gl «19f] 2

(A) Awa wd Al adl wa [Qae

(B} Ulbtcliot A& 8o5:(RY) o€l o
[Qeue

(C) cloctza @ e o€l wn
@Qaute

(D} @cliet ¥ 2iss «lel wo [Qae

AEL T ol A€l 1T ofl detoll 5 A
ol A Slsumiell sl oo Ue s3l:

agl — I el - 11
(Slsdlet ) v Rgia)
a. elRdell wY Rgid i Qe
wWRAULL s AL
b. opaict Stsdlot ii. c2)ptens
ell2dttell
C. {Glotvflstolae 2.0 1l AydH
Rayela
yldAu
SlS¥ :
a b c
(A) i i i
B) i i i
(C) i i i
(D) dii i i

ol Udlell 52l Q56U euRdoll
Rsice] dea & 2

(A) ullwe yldAu

(B) {Quoflal yei wi axc

(C) vitetlauell [Qotisl

(D) yaH Gulol ARk



55.

56.

57.

Which of the following groups did
India decline to join ?

(A) Trans-Pacific Partnership

(B) Regional Comprehensive
Economic Partnership

(C) East Asia Summit
(D) ASEAN Regional Forum

Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
the correct answer from the codes
given below :

Assertion (A) : The first phase of
Look East Policy focused on fostering
economic ties between India and
Southeast Asia.

Reason (R) : By 1990, India had

established substantial security

relation with countries in Southeast

Asia.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Which of the following is the main

concern of India-Russia relationship

today ?

(A) Rupee-Rouble trade

(B) Tibet’s claim to national self
determination

(C) Non-proliferation treaty

(D) Sale of weapons by Russia to

55.

56.

57.

ol Udlotl 5 o AA Hslallail
@RA Bos2 sl ?

(A) wicR-URGs ewolleldl

(B) uzells uust 2l eudllel
(C) yd AR ollw uRwe

(D) ‘wuoflatet wizells

A Al suAHiel As [Quist (A)

D ua ol SRR D oA wiRe SlsuHial
UL ol UE 53 ¢

Rut (a): ‘45 8@ ollldetl Y doissial
aRd wa eelloyd AR WA wlEls
Aol Rsalclal drstllel 3t 53,

szl (R):1¢co Yl eRa el@ruyde 2el
wd uFire detndl doldl eufd sl edl.

LT

(A)uA(R)oial UL B, WA(RRA(A)
ofl Al umeydl B

(A)

(B) (A)uUA(R)ell WA B, U} (R) AA(A)

ofl Ul syl otell

(C) Y 8 U(RWE B

(D) (A)vlg B WgRUY B

wegell qHAHL (A Usle g eurd-
2Bl Aol W YW R YR B ?
(A) 3Ra-ZUA ol cUUR
(B) A2t via-Fda 1 [@Qdedll

glcll
(C) @ Bletymz @
(D) 2L g2l GlRds dAAHI

India wllldl 2=l



58.

59.

Which among the following options
has been the reason behind the

India-Pacific Ocean initiative ?

(A) To counter security threats from
Taiwan

(B) Geo-political competition, China’s
aggressive behaviour and security
threats in greater Indian Ocean
region

(C) Geo-political competition in the
South Atlantic region

(D) To facilitate joint defence

manufacturing projects in India

Who among the following is
not covered under the overseas
citizenship of India scheme of

Government of India ?

(A} A person who has ever been a
citizen of Maldives

(B) A person who has ever been a

Pakistani, Bangladeshi or Sri

Lankan citizen

A person who has ever been a
Pakistani or Bangladeshi citizen
or who is a child, grandchild
or a great grandchild of such a

person

(D) A person who has ever been a

citizen of any country of Europe

58. o{la U4 sl @scu ‘sRau VRARSs
UAA SARAL A HBef As 5120 D

59.

(A)

(B)

(€)

(D)

cufcllot el Gloy e y2au
vt yedlAuar

o-2twslal autl, letoll wisus
ddys usl calus Be ueoR
[Qretr i Geu udet yrew vl

cella Nectils wysmi o-2rfla
auyf
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(12 U Sl Q2 et 23etl
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URAl et wrLQre otell 2

(A)

(B)

(€)

% sl suds UQ WEB ay ol
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% s sudel ugl Wiwdiel
widciz ot ¥ slleistoll otoidls 280 Sla

® Ul sedel Ul uladiol ¥
olloctiz ot oll atloRs 28l Ao Uyl

Al el RS o iy 3 Yy 3
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(D) ¥ il suds uel yauey S
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60.

61.

Given below are two statements one
labelled as Assertion (A} and the
other labelled as Reason (R). Select
the correct answer from the codes
given below :

Assertion (A) : India has launched
Mission Sagar to assist Island nations
in the Eastern Indian Ocean.

Reason (R) : This mission is in

consonance with the Government of

India’s vision to form a military bloc

in the region.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A}

(B) Both (A) and (R} are true, but (R)
is not the correct explanation
of (A}

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Under the Cabinet Mission plan,
the composition and representation
in Constituent Assembly remained
contentious as its members were
indirectly elected by the provincial
legislators, who in turn, were elected
by adult population. What was the
approximate size of this voting adult
population ?

(A) 6 - 10 percent

{Bj 20 — 24 percent

(C) 35— 39 percent

(D) 62 — 66 percent

60. (2 @ sual wUc B, Fuisll As

Qutet(A) B uR olly $RUR)D. (A
el StsHiell WA e UAE s2U

Rt (A): @R yella Be uetaoml ¢dla
AW HEE s2al MR Malel WwaR! ol
3l 531 B,

51281 (R): a1l Blatot aut YRavdi cesdl 3 6o
sacliofl etzcsll 4l WA Yo 8.

sy

(A) (A)AA(R) ol AL B, UA(R) B (A)
ol wall aHydl 8

(B) (A) wal(Rieisl sl 8, UQL(R) 3L (A)
ofl ull unydl ol

(©) A)uy d wRE &

(D) (A)Wg B UL(R) Y B

61. 3 [az Raet el ds0ell ol

atelle] dtset el YARBe Reudld 28 B,
3y 3 St uel yi2Bls @uuoinedl s
uAadld Yol ectl el Azl Wd yed
claiotl HelE(R sl YAl ecll. Yu dtait
Ul HA LAl vigtc vl AR B2Cl 25l
el ?

(A) s-10 2sl
(B) 20-2% 28l
(C) 3u-3¢est

(D} $2-9S 28l

RS e



62,

63.

64.

Given below are two statements,
one labelled as Assertion {A) and the
other labelled as Reason (R). Select
the correct answer from the codes
given below :

Assertion (A) : The President can
spend out of the contingency fund
of India but only with the approval
of the Parliament.

Reason (R) : With regard to all
financial expenditures, the Parliament
is supreme authority.

Codes :

(A) Both (A) and (R) are true and (R}
is the correct explanation of (A)

{B) Both (A) and (R) are true, but (R)
is not the correct explanation
of (A)

(C} (A) is true, but (R) is false

{D) (A) is false, but (R) is true

The Parliament of India can make

use of the residuary powers

(A) at all times

(B) only during national disasters

{C) only during national emergency

(D) only during Constitutional crisis

The National Flag was adopted by

the Constituent Assembly of India on

22 July, 1947 and was presented to

the nation on 14* August, 1947 on
behalf of

{A) Minorities of India

(B) National Integration Council
{C) Women of India

(D) Tribals of India

62.

63.

64.

o{lA el sastuioll As Qi (A)
& sl oy 510 (R) D oA e
slsriall W evclley we 53 ¢

@Quiet (A}: WUl eudet wsalls
AlRuisll w2l 59 ad B, wend wedll
uclatoll wsdl o

512QL (R): cHiH sllUBA W adal due
Al Al wpnQ B

PEETE

(A) A)ua (Rjcial aul 8, wA(R} A (A)
ofl a2l wuydl .

(A) v (R) ool AL B, U (R} A (A)

(B)
ofl Al anydl atsll

(C) (AAUY B U (R) Wi B

(D) (AW B ud Ry B
Hrclla due Al At sau?
Guallol 53l a3 & ?

(A) dHL ¥uHd

(B) %5¢ ndla geacll 2wl

£R12let
(C) %5cl Al 52lsdl €r2ust

(D) 85+ oitlRella @se £R12ilet

elidefl olulrel Aeudt 22 yaud,

1947 ol Al Lol wslet sl scl dau
14 uoRe, 1947 oft Rad oIA 94 su
@scu adlell g unfla g2l st ?

(A) euRdell cyudiA
(B} Axfla Astallsel yBwe
(C) etctell HRBeall

(D) eurctot 2wzl




65.

66.

67.

68.

69.

The Parliament can legislate on the
subject in the State list if the

(A) Rajya Sabha passes a resolution
by two-third of its members to
legislate on a state matter of a
national interest

(B) Supreme Court of India authorizes
the Parliament

(C) President issues an order of
authorization to that effect

(D) Law Commission authorizes the
State Government

Any dispute regarding residual

powers over a matter rests with

(A) Prime Minister

(B) Lok Sabha

(C) Rajya Sabha

(D} Supreme Court

Who wrote the book ‘At Home with
Democracy’ ?

{A) Ruchir Sharma

(B) D. L. Sheth

(C) Pratap Bhanu Mehta

(D) Atul Kohli

Who among the following scholars
conceptualized “modern, traditional
and saintly idioms” for understanding
Indian politics ?

(A) Myron Weiner

(B} Rajni Kothari

(C) W. H. Morris-Jones

(D) Paul Brass

Which one of the following Supreme
Court judgements redefined centre-
state relations ?

(A} S. R. Bommai case

(B) Indra Sahney case

(C) Vaman Rao case

(D) Golaknath case

65. A% YR ol [Awa Gu AUE SLAEL

66.

67.

68.

69.
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adla vleled ANEA Bt 53 U
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70.

71.

72.

Arrange correctly the chronological
order of the following events :

1. Declaration of national

emergency

it. Liberation of Bangladesh by
Indian Army
Nationalization of banks
Appointment of States
Reorganization Commission
Codes :
(A) iv, 1, i1, iii
(C) ii, iii, iv, i

11i.
v.

(D} iv, iii, ii, i
Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
the correct answer from the codes
given below :
Assertion (A) : According to Nehruvian
idea, post-independence India faces
biggest development challenge of
transforming one of the oldest, most
complex, continuous civilization into
a modern nation-state.
Reason (R) : One of the important
measures of India’s march towards
political modernization is high level
of institutional development and
democratic polity.
Codes :
(A) Both (A} and (R) are true and (R)
is the correct explanation of {A)
{(B) Both (A) and (R) are true, but (R} is
not the correct explanation of (A)
(C} {A) is true, but (R) is false
(D) (A) is false, but (R) is true

Though agriculture, as predominant
sector of Indian economy, employs
more than 50 per cent workforce,
its average contribution to Gross
Domestic Product (GDP) is

(A) 9-10 per cent

(B} 17-18 per cent

{C) 27-28 per cent

(D} 35-36 per cent

70.

71.

72.

ofl Aell ueaAlRAA U2 SHIsH sl :
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olA Wl su=ilHiell As Qtust (A)

8 ol ofloy 51RQU(R) B o{lAett Sisniiell
U gato uHe 53

Qutet (A): otdgott Qaz Yo, @UdNtR
eled, Alell wallet Ul A5, uid Bt
dall didcslla deudl sl AA vuyRs
A-ARUAML AWl sce Het [@Asa-
UssiRel UHoll 52l usl 28l 8.

522 (R) : ekl Axsla wyeldlsa
AR gell WANgUHL Ws Wl W] 5121
B d 8 G el Wreusla [@QAsid wa

Asdils Ascaicau

slsy

(A) (A) Ul (R)olal AW B, AA(R) A (A)
ofl WAl AHyAl B

(B} (A)ua(Rjoisl Ml 8, Ud (R) A (A)
oll ll amarclotell

(C) WY B uqvllg B

(D} (A)ullg B U (R) U3 B

sRAA ardla wsddae] o zst

A% vug wldyeud! &x dlal vdia,

Alsoitl uRef Guy (Il SARS Wsse) ui

U] YEloA B

(A) ¢-0 esL

(B) 19-1¢ 25l

(C) 28-2¢ 2sl
(D) 34-3g &5l

iv.

(D) iv, iii, ii, i



73.

74.

75.

76.

77.

Under which Finance Minister’s
tenure India’s New Economic Policy
of LPG was first officially initiated
and implemented ?

(A) Yashwant Sinha

(B) P. Chidambaram

(C) Pranab Mukherji

(D) Manmohan Singh

Which one of the following statements
is true about the First Past the Post’
electoral system adopted in India ?

(A) Winner need not get a clear
majority of the total votes cast

(B) Winner must have an absolute
majority of all votes cast

(C) Elected representatives can be
recalled through popular vote

(D) If highest votes are cast in NOTA,
the election is declared null and
void

Which one of the following states is
not reorganized on linguistic basis ?

(A) Gujarat (B) Manipur
(C) Telangana (D) Haryana

When was the last caste census
conducted ?

(A) 1931
(C) 1951

(B) 1941
(D) 1961

Who among the following scholars

has conceptualized India’s identity
politics as ‘silent revolution’ ?

(A) Pratap Bhanu Mehta
(B) Pradeep Chhibber
(C) D. L. Sheth
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A dlo. ol 2ulls ol yunar
AR5 A 2u2eUS wR wHAl ol ?
(A) 2acd Rl

(B) L. Qéwu

(C) Yatet Huosl

(D) Hotlleet Rle

‘WAl ayHd Andetz As o Y’

Ul AUl ARl wusttadel Yesl

yal 3l oA U4l 53] Quutet WY & 2

(A) @Bl GREARRA §E USAL ucmizll
AU ogMed Hoel w3l otell

(B) sc udew Heoll dAydl agudl @3l
GReaRa Holl Al AsA

(C) herdett uARABAA cAsHcel
west ollettell asta

(D) % ‘et (NOTA) & et Hetetl Well aAtR
Ut MR A 2eQlla 28 et el

1A USl 53 AU GUlel AR
YotR0lBct otell U3 ?
(A) %A
(C) aelousu

B) HellyR
(D) eRauau

decll s AUUBA crdl 21l
U2 UL ?
(A) 1931
(C) 1951

(B) 1941
(D) 1961

AR cdlotl AUl A58 ol UL
sall [Qglal ‘sl dly cavau@ea
5 &7

(A) Ycld eile] Hacl

(B) uélu Boeo?

(C) Sl Ad. As

(D) Christophe Jaffrelot (D) (BRs Bscll



78. Article 356 of the Indian Constitution

pertains to

(A) Imposing President’s rule in
states

(B) Declaring that, India, that is
Bharat shall be a union of
states

(C) Appointing of Governor of states

(D) Proclaiming financial emergency

79. Which of the following trade unions
was founded by Mahatma Gandhi ?
(A) All India Trade Union Congress
(B) Bharatiya Mazdoor Sangh
(C) Majoor Mahajan Sangh
(D) Indian Trade Union Congress

80. Women'’s Reservation Bill is
introduced in Lok Sabha as

(A) 101%t Amendment Bill
(B) 104%™ Amendment Bill
(C} 108™ Amendment Rill
(D) 111" Amendment Bill

81. Which of the following statement
1s not correct about New Public
Administration (NPA) ?

(A) NPA is anti-positivist

(B) NPA is supportive of politics-
administration dichotomy

(C) NPA is anti-bureaucratic
(D) NPA is client-oriented

82. Arrange the following components
of the communication in proper
order. Select the answer from the
codes given below :

i. Message

1i. Receiver
iii. Encoder

iv. Channel

v. Decoder
Codes :
(A) 1, 1ii, ii, v and iv
(B} 1, iii, iv, ii and v
(C) iii, 1, iv, v and ii

78. cuclla vititelell seid 356 wead

(A) Azl guld Wl clea]
wd &

(B) @2 543 5 6032 ded ¥
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(A) vdet 8Rau 25 yRaa SElu
(B) eurdllat movgz 2

(C) My Helwet du

(D) 8RBt 35 YRt SN
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(A) 101 Hl YruAn WS
(B) 10% Hl yul2 wrsl
(C) ¢ 1l Yulrl w2
(D} 991 A Yzl w28

81. o{lAstimiel 53 Qutiat stcflet Wd2

agdlaget eelui i el 2

(A) otcllet 2 adlae estaiasaudl
QA4 B

(B) stllat xd2 aflae Awsizal -
aglozatl [Rewasst & wepllest wd B

(C) stellel 032 aflae oQsaud
QAN

(D} eotellet @2 adlaz aussciall B

82. ol el el weHA Doy
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1. dgsl

1, Yid s2il2
. dEal dmetl2
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V. B3 Gleteus
Q.SQ{ :
(A) i, 111, ii, v and iv
(B} 1, iii, iv, ii and v
(C) i1, i, iv, v and ii

79.

(D) iii, i, ii, iv and v iDi iii, i, ii, iv and v




83.

84.

Which one of the following is attributed
to Chester Bernard ?

(A) Science of muddling through
(B) Bounded Rationality

(C) Zone of indifference

(D) Management by integration

Match List — I with List — II and select
the correct answer by using the
codes given below :

List -1 List - I1
a. Functional i. Technique of
foremanship standardization
of work
methods
b. Motion study ii. To determine
the standard
time for
completion
of work
c. Time study iii. A worker is
supervised
and guided by
eight specialized
supervisors
d. Differential iv. Pay by piece
piece rate rates on the
plan basis of
standards set
by motion
and time
studies
Codes :
a b c d
&) i di dv
(B) i 1 i iv
(C} iii i ii iv
D) 1 1 iv il

83.

84.

A DoiHiell 58 oot 2R olals ol
s oAU B 7
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(B) o db ddtetel
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85. Which of the following trends are not 85. o(AsiMiel sl acdl detsitets s

associated with Comparative Public Yalldel w3 doly wlddl o9l ?
Administration ?

mnistration _ o (A) wdBs , QR ua uBsuHeel
(A} Predominance of universalistic, UIRA-02G0] Yeyet

specific and achievement norms

(B) A differential stratification system (B) wikell warell [AAes dls2e

of diffuse impact yeucl

(C) Stable local groups and limited (€C) 2wl eulls uyl wa wncel
spatial mobility afdelleteu

(D) Relatively simple and stable (D) YHIQHL ALE wal reyl
occupational differentiation au@s [@Qelldlsel

86. Match List -1 with List— Il and select | 86, gl of au€l-11 1A deiotl 53 wa

the correct answer from the codes ol 2t slsniell qA QAseu ue 532
given below :
List ~ I List - II el ~ 1 el - II
(Author) (Book) (Auns) (Yrdis)
a. Gerald i. Public
Caiden E. Administration a. JAcs 350 &, i uleds AsBRA et
and Public Uos UloAs wyal
Affairs
b. Robert ii. Meodern b. Aué Ndellcudtii. HWsel uGds
Golembiwski Public AsM AR et
Administration -
c. Nicholas iii. Public

. HARdy Al il ulelts RAsPER aet

Henry Administration ¢
s Bl
Developing bkl

—
Discipline d. ool As A AR iv. siuA@s s ubAs

d. Nigro iv. Dynamics 3
F. A. and of public AR A, AsHEAR et
Nigro L. G. Administration
Codes slsu :
a b c d a b c d
(A) i iv iii ii (A} i iv iii i1
By ii 1 v i (B} ii i iv iii
(€} w i i i (C) iv i i i




87.

88.

89,

90.

Given below are two statements,

one labelled as Assertion (A) and the

other labelled as Reason (R}. Select

the correct answer from the codes

given below.

Assertion (A) : Development

administration requires

administrative modernization.

Reason (R) : Development

administration requires creation

of new administrative structures

and reorientation of existing one

to suit the needs of development

programmes.

Codes :

(A) Both (A) and (R) are true and (R}
is the correct explanation of (A}

(B) Both (A) and (R) are true, but (R} is
not the correct explanation of (A)

{C) (A)is true, but (R} is false

(D) {A) is false, but (R) is true

Who advanced the idea of “Constructive
conflict” in the study of organization ?

(A} M. P. Follet
(B) Rensis Likert
(C) Peter Drucker
(D) Herbert Simon

Which of the following is the common

feature of New Public Administration

and Development Administration ?

{A) Ecological perspective

(B) Effective co-ordination

(C) Change oriented

(D) Serving the organizational
interests

According to Riggs, interest groups
in Prismatic Society are known as

(A) Pressure groups

(B] Business associations
(C) Clects

(D) All of the above

87.

88.

89,

90.
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92.

93.

94.

95.

What is the deadline given under
RTI Act, 2005 to furnish information
concerning the life and liberty of a
person ?

(A) 30 days
{C}) 72 hours

(B) 45 days
(D} 48 hours

When was the Aspirational District
Programme launched to transform
the lives of people in underdeveloped
areas ?

(A) 2017
(C) 2019

(B) 2018
(D) 2020

Which one of the following is not an
objective of Panchayat Extension to
Scheduled Areas Act, 1996 ?

(A) To provide self-rule to the tribal
population

(B) To preserve the customs
and traditions of the tribal
communities

(C) To establish an autonomous
council in the tribal areas

(D) To extend the provisions of
Part IX in the scheduled areas
with some modifications

Which one of the following is the lowest
democratic body in the Panchayati
Raj system in Gujarat ?

(A} Taluka Panchayat

(B} Gram Panchayat

{C) Gram Sabha

(D) Zila Panchayat

Which among the following is not the
principle of social audit ?

{A) Regular
(B} Multiperspective
(C) Verified and Disclosed

(D) Carried out by government
agencies with no citizen
participation
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Which one of the policy monitoring
technique aims to identify those
activities which are critical to the
successful implementation of policy
programmes ?

(A) CPM (B) PERT

(C) MIS (D) PPBS

Match List - I with List — Il and select
the correct answer from the codes
given below :
List -1
(Government
Programmes)
a. NRHM i.

List - II
{Objectives)

Making
affordable

for people

an access

to financial
services such
as bank
accounts,
remittances,
credit,
insurance and
pensions
Promotion

of local
development
and creation of
well-planned
rurban clusters
Equitable,
affordable
and quality
health care

to the rural
population
Security wage
employment
for rural poor

b. NRuM ii.

c. MGNREGA iii.

d. PMJDY iv.

Codes :

a b C d
(A) 1 111 1 v
(B) in 1i iv i
€ 1 il 1t iv
(D) i v i iii
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98,

Given below are two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
the correct answer from the codes
given below.

Assertion (A) : ‘Padhe Bharat, Badhe
Bharat’ was launched to improve
reading and mathematical abilities
in elementary level.

Reason (R) : Right to Education was

enacted in 2014,

Codes :

(A) Both (A} and (R) are true and (R}
1s the correct explanation of (A)

(B) Both (A) and (R) are true, but (R}
is not the correct explanation
of (A)

(C) {A) is true and (R) is false

(D) (A) is false and (R} is true

- Which among the following is not a

component of food security ?
(A) Food processing

(B} Food access

(C} Food availability

(D) Food utilization

. Which among the following is not a

Consumer Right under Consumer
Protection Act, 2019 ?

(A) Right to Safety
(B} Right to be Informed

(C) No Right to Report Against Unfair
Trade Practices

(D) Right to Choose
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